) = b[e) Ej3 #® 8 g = % % E(e) #® #
R BREGH BREE AN BREGH HREEE
ERC206E | FRI9E | BR[| TFR20FE | FRI9E| IR | TFR20E | FRUI9E| HEIE | TFR20E | FERI9E| EIE | TFR20E | FRI9E| IR | FR20E | FRUI9E| EiRE
B T # % 203 188 15 142 108 34 70.0 574 12.6 2,601 2,679 -78 1314 1,086 228 50.5 405 10.0
[ 1T ) 75 84 -9 54 54 720 64.3 7.7 1,081 1,127 -46 426 434 -8 39.4 385 0.9
55X
55 H X
S2bRRKX
55 @ K
2 B 0w 57 54 3 42 22 20 737 407 330 602 612 -10 305 270 35 50.7 441 6.6
b= TT R ) 24 4 20 10 3 7 417 75.0 -333 165 197 -32 162 42 120 98.2 213 76.9
E B W 5 6 -1 2 2 40.0 33.3 6.7 72 50 22 35 21 14 48.6 420 6.6
¥ B W 5 5 4 4 80.0 80.0 83 59 24 66 22 44 795 373 422
R 9 3 6 9 2 7 100.0 66.7 333 28 57 -29 28 33 -5 100.0 57.9 421
B o ™ 3 2 1 3 1 2 100.0 50.0 50.0 75 68 7 45 44 1 60.0 64.7 -4.7
=5 B W 2 2 1 1 50.0 - 50.0 32 38 -6 23 6 17 71.9 15.8 56.1
@ OR W 4 3 1 4 3 1 100.0 100.0 12 19 -7 2 10 -8 16.7 52.6 -35.9
" @1 W 1 2 -1 1 2 -1 100.0 100.0 68 55 13 26 32 -6 382 58.2 -20.0
WFEF AT 4 6 -2 3 1 2 75.0 16.7 58.3 32 37 -5 15 12 3 46.9 324 145
B mWm 4 8 -4 4 2 2 100.0 250 75.0 61 51 10 32 27 5 525 52.9 -04
E E ™ 2 2 2 -2 1000 | -100.0 36 47 -11 17 16 1 472 340 13.2
x W 1 2 -1 3 -3 1500 | -150.0 53 61 -8 35 21 14 66.0 344 31.6
% 0O ™ 3 2 1 1 2 -1 333 100.0 -66.7 57 41 16 12 23 -11 21.1 56.1 -35.0
1 UERF0 < ET 1 1 - - 29 23 6 20 9 11 69.0 39.1 29.9
EME R SHET 2 2 2 1 1 100.0 50.0 50.0 9 25 -16 1 5 -4 1.1 20.0 -8.9
% OBD B HT 3 -3 - 6 9 -3 9 4 5 150.0 44.4 105.6
/1N B 2K BT - - 16 14 2 5 9 -4 313 64.3 -33.0
BEREAIER - - 1 1 1 -1 1000 | -100.0
= H D & B AT - - 11 22 -1 4 6 -2 36.4 27.3 9.1
R4 EB B0 g o BT - - 12 15 -3 5 3 2 417 20.0 21.7
Fé5 FH BB 2= S AT - - 8 5 3 1 1 125 125
EABERAFR - - 2 4 -2 2 1 1 100.0 25.0 75.0
AKREBAKFGET - - 4 6 -2 2 2 50.0 50.0
A K B 3 I BT 2 2 1 1 50.0 - 50.0 25 17 8 7 1 6 28.0 5.9 221
0% ERES 1 oh BT - - 20 15 5 9 9 450 450
Z Ot TR A 3 -3 - - 3 -3 20 34 -14 -| 11333 | -11333
]85 1 -1 - - 1 1




